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Loads Analysis on Independent Tanks Type C of LPG

PENG Yongfei, MA Wangkou

(Marine Design and Research Institute of China, Shanghai 200011, China)

Abstract: Through the loads analysis on the independent tank type C of the 3500 m’
liquified petroleum gas(LPG) carrier, a more convenient method to calculate the loads
and also to apply the loads calculated to the independent tanks type C is introduced
when general finite element analysis program MSC Patran/Nastran are employed. Two
different methods to calculate the loads and also to apply the loads to the independent
tanks type C is presented in the case that the carrier is in the condition of roll,
pitch and heave at the same time.
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